[[FUBIC, BRECEEDILIOVWTSETALET.

1 HRECEHIOVT, TNTNOEEBICOVTIEEZEN,

(1) HBEOMRIG ROENICHTEEDETH. (OF12)
%N BREF resgiic) =g ARl pi=ls:] R \|OZE
(n=5,683) (n=470) | (n=1,591)  (n=1,675) | (n=1,163) | (n=308) (n=375) (n=101)
EIEH | F 3,875 317 1,111 1,129 768 219 266 65
k=4 1,723 143 458 520 385 82 102 33
RO 95 12 24 27 15 7 7 3
EHREE 10 2 2 1 5 0 0 0
as 5,683 470 1,591 1,675 1,163 308 375 101
[i&3 5 68% 67% 70% 67% 66% 71% 71% 64%
=8 30% 30% 29% 31% 33% 27% 27% 33%
MO 2% 3% 2% 2% 1% 2% 2% 3%
BEHOE
ait 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
EXS . . . : y
o T
RE
(n=470) 0% B
LR
(n=1,501) 2900 %
1§:3
(n=1,675) s1% P
ARl
(n=1,163) 33% B
t=H
(n=308) 21% B
23
(n=375) 21% 20
LE:} kS " EEE
(2) HBEOFHEG ROENCHTEFENFIN, (OF1D)

EXZS BREF =g =3 AL t=H ERR FAEES
=5 (n=5,683) (n=470) | (n=1,591) | (n=1,675)  (n=1,163) | (n=308) (n=375) (n=101)
[EE= 10f% 2 0 0 0 1 0 1 0

2048 127 4 45 40 16 5 11 6
304% 571 22 214 189 87 27 17 15
4018 723 34 231 228 148 37 28 17
5068 846 69 272 219 163 40 64 18
60f% 1,556 143 430 433 321 94 116 20
7048 1,115 101 273 327 264 65 72 13
80fKUE 721 94 118 228 167 38 65 11
|EE 31 5 9 12 0 3 1 1
EHREE 7 2 1 1 2 1 0 0
&ait 5,683 470 1,591 1,675 1,163 308 375 101
[i&3 10f% 0% 0% 0% 0% 0% 0% 0% 0%
204% 2% 1% 3% 2% 1% 2% 3% 6%
304% 10% 5% 13% 11% 7% 9% 5% 15%
401% 13% 7% 15% 14% 13% 12% 7% 17%
5048 15% 15% 17% 13% 14% 13% 17% 18%
6018 27% 30% 27% 26% 28% 31% 31% 20%
7048 20% 21% 17% 20% 23% 21% 19% 13%
80 L 13% 20% 7% 14% 14% 12% 17% 11%
MO 1% 1% 1% 1% 0% 1% 0% 1%
BEHEE
ait 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
2
(n=5,683)%
BRE g
(n=470)%
LERE g
(n=1,591) |~
13
(n=1,675)
NI
(n=1,163)
t=H
(n=308)
23
(n=375) Lo
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4018

m501%
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=80fkLLE

LE:JmE=
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EXZS BREF =g =3 AL t=H ERR A EES
EETa (n=5,683) (n=470) | (n=1,591) | (n=1,675)  (n=1,163) | (n=308) (n=375) (n=101)
[EE= SE10H8 0 0 0 0 0 0 0 0
Bi201% 80 2 31 23 10 3 7 4
BE3018 371 16 136 127 53 16 12 11
B401€ 496 20 155 163 99 27 21 11
SE5018 604 49 204 153 110 27 48 12
B601% 1,167 113 337 312 228 76 86 16
BE7068 735 61 173 222 174 45 51 9
S80I L 395 51 67 124 89 21 41 2
ZE1048 1 0 0 0 0 0 1 0
22048 46 2 14 16 6 2 4 2
ZE3048 197 6 76 62 33 11 5 4
%4048 222 14 75 63 48 9 7 6
%5048 233 19 65 64 51 12 16 6
46048 358 27 88 113 82 15 30 3
ZE7048 344 34 88 96 85 17 20 4
SO L 303 38 48 99 75 16 19 8
PSEYIN 131 18 34 38 20 11 7 3
ait 5,683 470 1,591 1,675 1,163 308 375 101
ied BiE104€ 0% 0% 0% 0% 0% 0% 0% 0%
B2018 1% 0% 2% 1% 1% 1% 2% 4%
F3018 7% 3% 9% 8% 5% 5% 3% 11%
B4018 9% 4% 10% 10% 9% 9% 6% 11%
SE5048 110/3 10‘72 13‘73 90/2 90/2 90/2 13‘72 12‘73
B6018 21% 24% 21% 19% 20% 25% 23% 16%
BE7048 13% 13% 11% 13% 15% 15% 14% 9%
S80I £ 7% 11% 4% 7% 8% 7% 11% 2%
1048 0% 0% 0% 0% 0% 0% 0% 0%
22048 1% 0% 1% 1% 1% 1% 1% 2%
23048 3% 1% 5% 4% 3% 4% 1% 4%
24048 4% 3% 5% 4% 4% 3% 2% 6%
5048 4% 4% 4% 4% 4% 4% 4% 6%
26018 6% 6% 6% 7% 7% 5% 8% 3%
7048 6% 7% 6% 6% 7% 6% 5% 4%
SO L 5% 8% 3% 6% 6% 5% 5% 8%
PSEYIN 2% 4% 2% 2% 2% 4% 2% 3%
ait 100% 100% 100% 100% 100% 100% 100% 100%
(3) 4B 14HBERTHAREREINTWVAFEOMBAIE OROENICH TEEDE IH. (OF1D)
BREF L&P =3 ARl tmH EZ WOz
R (n=5,683) (n=470) | (n=1,591) | (n=1,675) | (n=1,163) | (n=308) (n=375) (n=101)
EI&# W 740 53 158 22 19 3 58 17
KIBLIOHER 1,507 111 460 445 312 83 82 15
- FOHACHR M 2,503 199 772 735 482 131 135 48
B F-RO=HRICHSHE 625 83 134 171 113 38 70 16
ZOft 273 20 58 90 59 17 26 3
RO 49 5 12 13 9 4 4 2
BHEZE 14 1 3 4 4 2 0 0
&ait 5,683 470 1,591 1,675 1,163 308 375 101
[i&3 HHHE 13% 11% 10% 13% 17% 12% 15% 17%
KIBLIOHER 27% 24% 29% 27% 27% 27% 22% 15%
- FOHACHA M 44% 42% 49% 44% 41% 43% 36% 48%
R-F-RO=tERICDLHE 11% 18% 8% 10% 10% 12% 19% 16%
ZOft 5% 4% 4% 5% 5% 6% 7% 3%
RO 1% 1% 1% 1% 1% 1% 1% 2%
EHREE
&st 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
(n:%{g;?.) P 27% 44% 5 1%
RE
(n=470) 24% Y7 S e 1%
g Y7 T
(n=1.501) 29% 49% B 1%
%3
oEE o TS T v
o o TS ED
t=H
(n=308) 27% | 43% Lk 6% R
=&
(n=375) 2206 T S o T 1%
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KX R SRET (n=5,683)

(4) 48148RLIRTETE HRELEFEEIN TV HEOBREZEDDELLD. (OEF1D)
24K BREF L& L& Al F ] B fROIZ
(n=5,683) (n=470) | (n=1,591)  (n=1,675)  (n=1,163) | (n=308) | (n=375) | (n=101)
mER  [EDEBL 4,829 388 1,436 1,415 946 259 299 86
Zhok 768 74 136 238 198 42 69 11
e 91 8 19 24 21 7 8 4
EREE 5 0 0 2 2 0 1 0
a5 5,683 470 1,591 1,675 1,163 308 375 101
= ZD5R 85% 83% 90% 84% 81% 84% 80% 85%
Zhofk 14% 16% 9% 14% 17% 14% 18% 11%
WEZ 2% 2% 1% 1% 2% 2% 2% 4%
HEHREIZE
&it 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
2K : : . . ‘
o o o
RE
(n=470) L 2l
LRTE
(n=1,591) 9% Jl1%
LR
(n=1675) 14% %
Rl
(1=1,163) 7% [
=
(n=308) 14%  [B%
ERH
(n=375) 18%  [B%

B EHLEN Ehotz = REE

(5) 48148 R THRIEABEN TWSEREORIC, RDESIBITFWLSL pLVELED. (BRIECES%ZEH#EY) (HTUIFZEDOIARTICO)
7 AR

L&# L& tmH EZ WOz
(n=5,683) (n=470) | (n=1,591) | (n=1,675)  (n=1,163) | (n=308) (n=375) (n=101)
EIZE# FLahlE 714 39 254 214 113 38 38 18
INFEE 728 41 238 242 132 31 34 10
hELE-BRE 665 43 192 210 144 25 43 8
65U LD 2,480 278 575 679 546 155 211 36
ZEIBHEVRNR 1,689 108 512 514 348 83 93 31
RO 358 30 90 96 84 23 26 9
a5 5,683 470 1,591 1,675 1,163 308 375 101
ied RIS 13% 8% 16% 13% 10% 12% 10% 18%
INEE 13% 9% 15% 14% 11% 10% 9% 10%
PEE-BRE 12% 9% 12% 13% 12% 8% 11% 8%
65U LD 44% 59% 36% 41% 47% 50% 56% 36%
ZEIBH RN 30% 23% 32% 31% 30% 27% 25% 31%
RO 6% 6% 6% 6% 7% 7% 7% 9%
&st 100% 100% 100% 100% 100% 100% 100% 100%
80% - CERYLA 80% - u 24k (n=5,683)
INEAE u 7% (n=470)
mRR A SR w [RRH (n=1,591)
'Sﬁsﬁ?iﬁ”’? N u 5% (n=1,675)
60% | 59% RRATOAGVERT L o = Al (n=1,163) 5% 56%
=M (n=308)
50% w328 (n=375)

44%

40% 40% -

20% - 16%
13% 3% 121 13%
09 %%

20%

15949
% 120832%
1%%0 12% ©11%

99

0% 0% |

= N EHR INFAE RRE-ERE 658 Ll LD BETIH VAT
wE  hRAE AR AL EEt 23 " T e

(n=5,683) (n=470) (n=1,591) (n=1,675) (n=1,163) (n=308) (n=375)
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(6) 48 14HBRT. HRELEBIFEICEE TRFFATVELELD. (O@12D)
2

BREF L& =3 Al F ] ER fHEE
(n=5,683) (n=470) | (n=1,591) | (n=1,675) | (n=1,163) | (n=308) (n=375) (n=101)
EEEEEE 144 5 5 51 14 2 8 14
1 ESERS 372 11 156 106 46 31 11 11
SELL 106K 409 15 158 127 65 13 23 8
10ELLE 205K 739 27 313 229 121 21 17 11
205 L E305E KT 974 27 388 296 206 17 24 15
30 E 3,011 384 516 858 705 221 289 39
RO 38 2 11 8 7 3 4 3
e 4 1 1 0 1 0 1 0
&t 5,683 470 1,591 1,675 1,163 308 375 101
[i=3 16K 3% 1% 3% 3% 1% 1% 2% 14%
1 E5EERE 7% 2% 10% 6% 4% 10% 3% 11%
SEL 105K 7% 3% 10% 8% 6% 4% 6% 8%
105 L2045k 13% 6% 20% 14% 10% 7% 5% 11%
205 B E 305K 17% 6% 24% 18% 18% 6% 6% 15%
30FEME 53% 82% 32% 51% 61% 72% 77% 39%
MO 1% 0% 1% 0% 1% 1% 1% 3%
HFHREIZE
ait 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
2k : : : . 1
(n=5.683) z 7% 20 17% 1%
RE .
(oA 70) LB 6% 0%
AR
(n=1.501) g 10% [ 24% 1%
BR
(n=1.675) 6% I8 18% 0%
A
(no1163) HABED 18% 1%
t=H
(=308 1 10% T 6% 1%
(n=375) ’% 6% [E7) 6% 1%
LR LELIESERS  mSELIEIOFRRE = 1050 E20EHH
m20F U E30FE K n30FLLE = EEE
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X BISEET (n=5,683)

[BREOSEFVIOVTSEI ALET.
12 4B 148 ROSREOBEMXGROENCHTEEIEFIN. (OF1D)

B3 48 14HEROBROBEZVOIEMEE. ROLNICHTEFDEFIN. (O 1)

BREF L&T L& Al tmH ER MmOz
(n=5,683) (n=470) | (n=1,591) | (n=1,675) | (n=1,163) | (n=308) (n=375) (n=101)
EIZ# S5 (Fi) 4,646 457 1,225 1,357 920 297 343 47
5K (EEEE) 29 0 5 10 10 0 2 2
ttE 18 0 6 2 4 1 4 1
HTEAE 125 0 9 20 92 0 3 1
REMER (BEY> 33>, 7\-bEEE 698 4 324 224 110 4 9 23
RED- T1E- 8 34 1 4 12 6 1 6 4
ZOft 94 4 12 50 15 4 7 2
|EE 45 4 6 4 7 1 2 21
EHREE 6 0 0 4 1 0 1 0
&t 5,683 470 1,591 1,675 1,163 308 375 101
[i&3 SE5R (Fi) 82% 97% 77% 81% 79% 96% 91% 47%
5% (EEEE) 1% 0% 0% 1% 1% 0% 1% 2%
ttE 0% 0% 0% 0% 0% 0% 1% 1%
BIEEE 2% 0% 1% 1% 8% 0% 1% 1%
REMER (BEY> 33>, 7\-bEEE 12% 1% 20% 13% 9% 1% 2% 23%
RfED- 18- 8% 1% 0% 0% 1% 1% 0% 2% 4%
ZOft 2% 1% 1% 3% 1% 1% 2% 2%
RO 1% 1% 0% 0% 1% 0% 1% 21%
EHEE
&ait 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
= z%
RE
(n=470)
RRH
(n=1,591)
LE®
(n=1,675)
Rl
(n=1,163)
t=H
(n=308)
23
(n=375)
LR (FE) HER(EEEE)
nitE nBrEEE
B RRER(EETU Ay, 7R MEE2ED) oY -TE-B
" Z0ite i EES
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= RKATERUEREL REFEZRIDEEL = EEE
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14 HREOCEEDHICRIE, ROENICHTEENETH. (OF1D)
EXZS BREF =g =3 AL t=H ERR A EES
(n=5,683) (n=470) | (n=1,591) | (n=1,675)  (n=1,163) | (n=308) (n=375) (n=101)
B 2SI 1,532 176 163 483 501 74 118 17
RAUEHIR 434 55 91 106 109 33 33 7
iR 1,146 89 315 348 213 76 91 14
—HEBEIR 2,182 129 838 672 285 114 113 31
HWE>BHOR 197 12 115 21 22 5 12 10
SH5EN 70 4 26 18 10 2 7 3
Zoft 112 9 44 32 21 0 5 1
MO 57 3 5 14 9 6 0 20
HEHREZE 45 7 6 19 7 2 2 2
ait 5,683 470 1,591 1,675 1,163 308 375 101
ied 2SI 27% 37% 10% 29% 43% 24% 31% 17%
RAURHIR 8% 12% 6% 6% 9% 11% 9% 7%
iR 20% 19% 20% 21% 18% 25% 24% 14%
—HEBEIR 38% 27% 53% 40% 25% 37% 30% 31%
HEERHoL 3% 3% 7% 1% 2% 2% 3% 10%
SH5RN 1% 1% 2% 1% 1% 1% 2% 3%
Zoft 2% 2% 3% 2% 2% 0% 1% 1%
MO 1% 1% 0% 1% 1% 2% 0% 20%
BEHOE
a5 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
EXLS . : . ‘
(n=5,683) 8% 20% 3, 1%
RE
= 12 50
[ERE ]
(=1.50) 6% I s TR 0%
£z
(=1675) 6% 21% T 1%
Rl 0l
(n=1,163) 9% 18% AR 1%
(faﬂga) 25% 20720
(n;f3£7§5) 24% 2%, 0%
BRI KRR w0 —HHER B QAN of AL AL B EOM = REIE
R5 HREOREOSEFNG, EBXFIOBSEFVERCTIN, (OEF1D)
EXZS BREF =g =3 AL t=H ERR |EZE
(n=5,683) (n=470) | (n=1,591) | (n=1,675)  (n=1,163) | (n=308) (n=375) (n=101)
EIE# ELEIERUEEN 3,723 290 1,268 1,049 597 215 248 56
EXFIEFBIOEFEN 1,677 146 264 558 494 75 111 29
|EE 286 34 59 71 72 18 16 16
EHREE 3 0 0 3 0 0 0 0
&ait 5,683 470 1,591 1,675 1,163 308 375 101
[i&3 EXKFEECEEN 66% 62% 80% 63% 51% 70% 66% 55%
EXEIEFBIOEEN 30% 31% 17% 33% 42% 24% 30% 29%
MO 5% 7% 4% 4% 6% 6% 4% 16%
BEHEE
a5 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
P - : : T )
(n=5,683) 0%
RE
(n=470)
LRE ;
(n=1,591) m
13
(n=1,675)
NI
(n=1,163)
t=H
(n=308)
23
(n=375) £
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Bir?% BUREEEZS! it — =
St SO0 i3 o - :
&= - 29 L n=558) (n= o -
Z0fth € 55 : % . B . =
: 8 6 5 183 166 =75) (n= RS
RO 47 1 12 b k- : B (r;=2=
=3 o = ;91 5 1 ; 32 13 57 |
= : ] : ? 11 4 18 8
B : i 2 12 3 1 3 6
Eﬁﬂgéﬁf | : > 31 71 19 0 6 5
5% E (HRURE . 2 6 78 55 3 o 2
HEEE BRETESER 26% = 5 | : 10 2 o
B ALY 26% o 5 8 | 12 2 1
FREPRAE ; . ; 558 1 2 | 3
Z0ft € 3% 3% 33% = i 1 3 |
: : % 30 26% 34% 75 0 0
%g;ﬂax 3% 1% 5% 10% "o = : o
: | 2 : : o oo 17% 51% 29
& 14% 11% e 2 : - . 5
: - E 5 2% 5% 3% 21%
0% 1% 12% s i : : -
(n_gl‘* 20% 100% _ e - : 0% 7%
=1,677) ; 40% 100% _ = - : 0%
‘ - 100% ~ e : -
26 ‘ ; 100% ~ e ;
: % A) 100% ~ e
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. EFELE{EE&‘E% -
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REEEEELLY)
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KX R SRET (n=5,683)

7 FEROBEFVCOVT, HBEDBVCREEVEDEFENTIN, (O (F1D)
e L& EE ENIT i) S FIES
(n=1,677) | (n=146) _ (n=264) | (n=558) | (n=494) | (n=75) | (n=111) | (n=29)
EER | mtRUEm CERLEL 984 112 144 311 294 5 58 15
e RCHPRSN O BRI
;fﬂggﬁ#fr AT (RUARE 109 6 20 44 24 3 12 0
e e FERRT
gfﬁ)b?g éﬁ- :;smﬂm (FRBREXT < 0 6 % 4 4 5 o
EHBTADB] EEEABELEL 84 3 11 32 29 4 4 1
BTSN 38 0 7 12 11 2 4 2
BESTEEIBNAN 178 15 33 61 46 5 15 3
BHBR 148 7 30 54 38 5 10 4
Zofts 81 3 11 27 28 3 5 4
mEE 19 2 5 5 5 1 1 0
ERES 18 2 2 7 5 2 0 0
&t 1,677 146 264 558 494 75 111 29
(%3 FELRCEH CHRLREL 59% 77% 55% 56% 60% 67% 52% 52%
T S ot e
2) rggg#_fr AR (RGEE 6% 4% 8% 8% 5% 4% 11% 0%
LRI 2SI RBRET
;itu) tﬁﬁztﬁ;u(ﬁmmm (RBSRET 3% 0% 2% 4% 5% 5% 2% 0%
2 E] N DE] EEEABERLIZL 5% 2% 4% 6% 6% 5% 4% 3%
BTSN 2% 0% 3% 2% 2% 3% 4% 7%
RIFRTEEZSNZL 11% 10% 13% 11% 9% 7% 14% 10%
SHBRN 9% 5% 11% 10% 8% 7% 9% 14%
At 5% 2% 4% 5% 6% 4% 5% 14%
s 1% 1% 2% 1% 1% 1% 1% 0%
EHREE
oF 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% 40% 60% 80% 100%
ra 6% TEU T NLINITTINET60 1%
#REF ; ‘
(n=146) 4802550 =12%11%
(nmzfs) 8% TATERL N 18% RN A% %
(n:m;;g) 8% L6% T 1% T INE%] 1%
(nfilug-l 4) 5% 22 2% 8% 1%
Pl o0 T S92 796 TR0 15
(n;:iﬁl) 11% YA%LL 9% 1%
= EERECBRTERELLL
TEERCH AT LS DESHATI (R AR M) THELEL
u L ECB AT LIS DA (RA SRR Thkl) THELRL
» AT BT B E~BEL-0
u ISHATAH BRI
» HEATEEZSALL
B3 HBHL
= ZOt
8 40



18 HRLEEIBIEHFIEVERBVETN. (OF1D)

BREF =g =3 AL t=H ERR A EES
(n=5,683) | (n=470) _(n=1,591) (n=1,675) (n=1,163)  (n=308) | (n=375) | (n=101)
EER RS RITL 4,945 429 1,395 1,434 997 274 336 80
BISMBHEL 1L 390 17 131 117 73 20 20 12
FTCBISHCABEELIEA, 2HBTICROEL 163 9 30 62 49 4 7 2
FTCEISHRBIEL THD. 2B CR5 080 51 1 8 21 13 3 2 3
mErs 155 15 32 51 36 7 10 4
s 21 1 5 10 5 0 0 0
Bt 5,683 470 1,501 1,675 1,163 308 375 101
EE  SWEcEsHIED 87% 91% 88% 86% 86% 89% 90% 79%
BISMABHEL 1L 7% 4% 8% 7% 6% 6% 5% 12%
TN, AR 3% 2% 2% % 4% 1% 2% 2%
FTICAISHCIBEEL TH0. 2$IHBICRE 8D 1% 0% 1% 1% 1% 1% 1% 3%
e 3% 3% 2% 3% 3% 2% 3% 4%
BEHEE
= 100% 100% 100% 100% 100% 100% 100% 100%
0% 20% a0% 60% 80% 100%
E3%N . . . . ‘
(n=
(n
% i
(n=
1% F .
(n=1,675) 79% "I98
NI 0
(n=1.163) 6% 080
t=H o
(n=308) 6% Do
23 0
(n=375) 5% LR
u AT (A 1oL
BTSMZBEEL I L
u § CIZBTSHIBEEL LA, 2EHATICRY 0
= FCIZHTSHZRERLTHY. 25HBTI TR 5 DY (AL
LE:JmE=
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19 SR EI NS ERL 0\ BEEL IR A (S RO

PNICHTEEDEIN. (OFLKOTH)

Pt 3 Al [ EE RO
(n=603) (n=27) (n=169) (n=199) (n=135) (n=27) (n=29) (n=17)
B DB 167 8 33 59 55 5 5 2
BEZVDOBETEZNDNSBL 165 8 31 53 51 7 12 3
BUENEEZENLE 252 11 73 81 55 17 10 5
BB TOAD 225 9 58 74 53 13 12 6
HhAEHYOAED 265 9 76 93 60 9 12 6
RSEENDER 160 7 41 60 32 6 9 5
HBS - B BIBARHINA R 65 1 15 29 9 4 3 4
BUWIPLETECTME 188 10 60 65 25 10 14 4
ZBOENEC, BE EFCME 125 10 41 30 28 6 6 4
FECEBEORENLB 40 2 17 11 8 1 1 0
FRAE- B - AN FERL TLOVRLY 48 3 17 14 10 2 2 0
RIBPESN VLB PSR 62 4 24 12 17 2 2 1
XA - ARV ERLOHEERHD R 38 1 14 11 10 2 0 0
i T ABBIRNI T % 58 5 22 13 10 5 1 2
DICEEE (BIE) ML 37 0 14 11 8 0 3 1
BRBRIRCHCENTLRL 15 1 7 4 1 2 0 0
FEICIFRME - BRI CERL 162 8 47 59 34 7 7 0
Zoft 72 1 24 27 12 3 3 2
HEOE 22 0 3 9 5 1 3 1
=5 603 27 169 199 135 27 29 17
iz EZ i) 28% 30% 20% 30% 41% 19% 17% 12%
BEZVDBETEZNDNSBL 27% 30% 18% 27% 38% 26% 41% 18%
BUENEEZENLE 42% 41% 43% 41% 41% 63% 34% 29%
BN TOED 37% 33% 34% 37% 39% 48% 41% 35%
AN OED 44% 33% 45% 47% 44% 33% 41% 35%
RSEENDER 27% 26% 24% 30% 24% 22% 31% 29%
HBS - B BIAHINA R 11% 4% 9% 15% 7% 15% 10% 24%
BUWPLEECRME 31% 37% 36% 33% 19% 37% 48% 24%
ZBOENEC, BE EFCME 21% 37% 24% 15% 21% 22% 21% 24%
FECHBORENLBL 7% 7% 10% 6% 6% 4% 3% 0%
fRAE- B - RN FERL TLVRLY 8% 11% 10% 7% 7% 7% 7% 0%
RIBPESN VLGB PSR 10% 15% 14% 6% 13% 7% 7% 6%
XAb - ARV ERLOHEERHD R 6% 4% 8% 6% 7% 7% 0% 0%
i T ABBIRNI T & 10% 19% 13% 7% 7% 19% 3% 12%
DCEME @E) Han 6% 0% 8% 6% 6% 0% 10% 6%
BARRCHENTLRL 2% 4% 4% 2% 1% 7% 0% 0%
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ZOft 251 18 80 69 51 9 17 7
O 836 85 230 236 155 46 59 25
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V) [EEIEO—BOHT, HAIBELESHEOEMEMTIN. 3IDFTHEATIE SEAMICEFLIRADSZ, TNENOVTOTER -BEX2AOHRAIC TEEALLZE,

EXZS BREF =g =3 t=H ERR A EES

(n=5,683) (n=470) | (n=1,591)  (n=1,675) | (n=1,163) | (n=308) (n=375) (n=101)
EIE# EEAMREEROER 1,313 173 311 351 239 100 124 15
T EREOEIR 374 23 125 108 68 14 28 8
BIEPEBHOEIR 1,304 75 362 468 264 52 69 14
EEOIRA (FFEROFMT. IR LR 919 93 257 242 175 58 82 12
TEOIRE (FimbF. SffEes 116 8 31 28 30 6 13 0
EE-Y-E2XEOIRE (EARBEDEEL 1,160 73 330 354 286 47 56 14
BAEORE (BCEROEMRL) 483 31 141 140 113 21 34 3
FUNEEIREDTRE 262 23 86 72 50 10 18 3
6 REEZEAL DI 100 7 28 29 20 3 11 2
BEEDFEE 965 77 290 278 208 37 61 14
TEENEER DR 1,276 79 382 417 263 63 61 11
RIZIRIROFEE 89 9 33 18 23 2 4 0
AMBRROIEE 395 34 123 99 90 15 29 5
REXEORE (EEMBIRIEOERR 354 34 91 86 66 28 42 7
B DR 141 11 43 39 29 10 9 0
|EE 1,795 157 490 511 364 107 112 54
as 5,683 470 1,591 1,675 1,163 308 375 101
;&3 EEAMPEEMEROER 23% 37% 20% 21% 21% 32% 33% 15%
TSP AESBOEIR 7% 5% 8% 6% 6% 5% 7% 8%
BIEPEBOER 23% 16% 23% 28% 23% 17% 18% 14%
BEOIRE (FEROSE, INEtm ER 16% 20% 16% 14% 15% 19% 22% 12%
TEOfRE (FrEmbEs. SHMiists 2% 2% 2% 2% 3% 2% 3% 0%
HE-U-EXEOIRE (BARBEOEMEL 20% 16% 21% 21% 25% 15% 15% 14%
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FUNBEIREDTEE 5% 5% 5% 4% 4% 3% 5% 3%
6 REZALOHERE 2% 1% 2% 2% 2% 1% 3% 2%
BEEDFE 17% 16% 18% 17% 18% 12% 16% 14%
[EEIBH0GS 22% 17% 24% 25% 23% 20% 16% 11%
RIERIBORE 2% 2% 2% 1% 2% 1% 1% 0%
AMBERROIEE 7% 7% 8% 6% 8% 5% 8% 5%
BREXEBORE (ELMbfEOEHER 6% 7% 6% 5% 6% 9% 11% 7%
B DR 2% 2% 3% 2% 2% 3% 2% 0%
RO 32% 33% 31% 31% 31% 35% 30% 53%
a5t 100% 100% 100% 100% 100% 100% 100% 100%
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120 SREEEHBEOLCAIFETIN. (ORFLKDTE)

2 REF Pt 3 Al [ EE RO
(n=5,683) (n=470) | (n=1,591) | (n=1,675) (n=1,163) | (n=308) (n=375) (n=101)
EBIE#  JARALV 1,619 149 377 431 418 9 132 22
BUWPAETECER] 1,343 44 390 497 334 30 32 16
ZiBOENSC, BE B (CEF 1,646 42 493 655 364 36 33 23
FECHEBORENLL 1,446 101 448 432 279 78 88 21
fRE2- BRI FERELTLS 1,486 126 389 461 312 91 92 15
RIBPLEENVERLDIEPHEENZ W 479 37 97 144 132 28 38 4
XA - ARV RELOHENFTERLTVS 617 52 129 192 167 37 34 6
U TOARRIRA LN 1,619 161 367 450 384 98 142 18
BRCELE-BBNHD 264 22 48 78 61 19 28 8
BRBRCHENTVS 2,337 240 527 632 538 163 198 39
FEOTEME - RERENBETES 724 53 222 206 141 43 48 11
FEICEBEN DD 2,226 217 469 641 555 139 175 30
Zoft 251 12 75 71 57 14 12 10
I ZIFELEBDBN 214 14 68 57 38 17 16 4
O 451 52 115 145 59 25 41 14
&5t 5,683 470 1,591 1,675 1,163 308 375 101
i SARHL 28% 32% 24% 26% 36% 29% 35% 22%
BUWPAETECER] 24% 9% 25% 30% 29% 10% 9% 16%
ZiBOENSC, BE - BEF(CEF 29% 9% 31% 39% 31% 12% 9% 23%
FECHEBORENLL 25% 21% 28% 26% 24% 25% 23% 21%
fR2- BRI FERLTLS 26% 27% 24% 28% 27% 30% 25% 15%
RIBPEENVERELDIEPHEENZ W 8% 8% 6% 9% 11% 9% 10% 4%
XA - ARV RELOHENFTERLTVS 11% 11% 8% 11% 14% 12% 9% 6%
U TOARRIRA LV 28% 34% 23% 27% 33% 32% 38% 18%
BRCELE-BBNIHD 5% 5% 3% 5% 5% 6% 7% 8%
BRBRCHENTVS 41% 51% 33% 38% 46% 53% 53% 39%
FEOTEME - HEENBETED 13% 11% 14% 12% 12% 14% 13% 11%
FEICEBEN DD 39% 46% 29% 38% 48% 45% 47% 30%
Zoft 4% 3% 5% 4% 5% 5% 3% 10%
I ZIFELEBDRN 4% 3% 4% 3% 3% 6% 4% 4%
O 8% 11% 7% 9% 5% 8% 11% 14%
=5 100% 100% 100% 100% 100% 100% 100% 100%
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